
18 DEF & Diesel Fuel Boss™

English

OVERVIEW

12

7

11

10

9

8 2

29

28

30 26

1

4

3

16

6

25

19

21

5

14

18

27

15

13

20

24

17

31 23

22

26

24

RDU100S10D

D
IESEL FU

EL BO
SS™



19Version 1.1

English

ITEM NO. PART # DESCRIPTION QTY.
1 AMRDT100S DL100TO 1
2 AMRDPC wide lid for DL/DEF 1
3 AZKR0001  DIESEL DEF TANK COVER LATCH REV 4 1
4 AZKR0004  DIESEL DEF TANK NOZZLE BRACKET REV 2 1
5 ARDNA01  Diesel Auto Shut Off Nozzle 1
6 CDHN01  Wide-16 Foot DL discharge hose 1
7 CEBP01  Breather Base 1
8 CEBP01  Breather Top 1
9 CDBF  Foam Filter-Breather 1
10 CDGN02  32x14x4 Breather O-Ring 1
11 CEBP01  Polypropylene Ball for Breather 1
12 CDON04  O-Ring for Breather 1
13 CDLA01  Die Cast DL Lid with Bung 1
14 CDFA01  Die Cast DL Lid Tube 1
15 CDGN01  277 x 4 MM Ribbed DL Gasket 1
16 CHMS050523A 1/2 x 1 Panhead hex drive bolt 1
17 CDGN03  25MM Universal Seal 1
18 CDSA01  Strainer Mesh 1
19 CDF01 DL Mesh Filter & 1" Socket 1
20 CLUOLO07005 1 PVC DL Suction Hose 1
21 ARDPDP01 10GPM 12V DieselFlo Pump 1
22 CFPE04M05B .75MPT x 1 HB 90 1
23 CFCW003 Clamp for 1 inch hose 1
24 CHMZ709025  M6 x 10MM Phillips Lid Tube Bolt 4
25 CDSB01 .75 x .75 DL Swivel 1
26 CHMZ010135  .25 x .375 L Panhead Machine Screw 4
27 CHMS702033 6 x 20MM SS Panhead Machine Screw 6
28 CHMZ011325 .25 x 3 Panhead phillips 2
29 CHWZF015  1/4"  Flat Washer 2
30 CHNZN0125 1/4 Nylock nut 2
31 CDCA01  Diesel Cap 1

PARTS LIST

D
IE

SE
L 

FU
EL

 B
O

SS
™


